SHIKSHA VIKASH SAMITI, ODISHA

ANNUAL EXAMINATION : 2020-2021

Class - VIII Sub - Computer
Time - 30min. Full marks - 25
1)  Answer the following questions (any TWO). [3X2]

2)

3)

4)

Write about any three Functions of MS Excel.

Write a programe to enter a number and display the

day according to the number.

Write a programe to display the sum of numbers from
50to 1.

Answer the following questions (any TWO). [2X2]

)] Write the steps to delete a Row in MS Excel.

i)  Write a program to enter three numbers and find the
sum.

i)  Write a programe to display your Sishu Mandir name
10 time.

Fill in the blanks. [2X3]

a)  Predefine formulais called

b)  BASIC developed in the year

c)  Todecreasethe initial value ofa loop the STEP value is
with sign.

Write True or False. [2X2]

0) F1 is the shortcut key of LIST command. ( )

il

LOAD statement is use to save a program.  ( )

[1]

5)  Matchthe following.

-A-
Function

Assign a value
Logical operator
Display the output

Remarks

-B-
REM
PRINT
POWER()
AND
LET

O o0 o
0’0 0’0 0’0

[2]
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SHIKSHA VIKASH SAMITI, ODISHA

ANNUAL EXAMINATION :2020-2021
Class - VIII
Time - 1 hour

Sub - English
Full marks - 50
Answer all the questions.

Answer the following questions. 1 x8
(a) Who lost the camel?

(b) What did the merchants ask the old man ?

(c) What was the camel carrying ?

(d) What did the judge ask the merchants to do ?

(¢) Where is Panagarh ?

()  What did Biju do with the liquid ?

(g) Who did Biju bring back from Indonesia ?

(h) What were dakotas used for ?

Answer the following questions. 1 x8

(@) Who had a squirrel ?

(b) What makes up a year ?

(c) Who started the quarrel ?

(d) Who does 'T'"in the last two lines refer to ?

(¢) Who has placed a Scarecrow ?

() Why did the poet call the Scarecrow naughty ?

(g2 Who does the poet talk to in the poem
Scarecrow ?

(h) When did the poet see the Scarecrow ?

[1]

Answer the following questions. 1 x4
(a) Who was Taro ?

(b) What was Kalu ?

(c) Where did the three brothers live ?

(d) Who wanted to teach them a lesson ?

Do as directed. 1 x10
(a) Cockpit

(b)

(c)

(d)
(e)

®

(8

(h)

Q)

(Write the meaning )

He who sits on the back benchisa...........
(Fill in the blank )

order

(Use the word order as noun )

Make a sentence using 'look after ".
juge

(Correct the spelling if necessary )
carry

(Puting)

fast

(Write the opposite meaning )

Write the past tense of the verb 'give'.
It/to/grow/helps/also/to.

(Arrange the words to make a meaningful

sentence )

Write the plural form of the word 'It".

[2]



Do as directed. 2 x5
(a) Shut the door.
(Change the voice )

D) e, you learn from your experiences, you

will not commit the same mistakes again again.
(Rewrite using If/Unless )
(c) Take your plough.
(Add a suitable question tag )
(d) put
(Write the past tense )
(e) TIam living here since 1990.
(Correct the sentence if necessary )

Translate into English. 2 x5

(@) 649 QG QAL |
(&) Q69 6@60969R Y0I6R 2 AR ?

(Q) ¢ QR 62N QA 121 *RaI’E |

(Q) 69196 @106Q GaIA |
(@) 9 QG 69 6262R1dIF QA @QUAIRIAR |

O o0 o
0’0 0’0 0’0

[3]
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